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Instructions to candidate

This paper consists of two sections A and B.

Answer all the questions in section A in the spaces provided after each question.

In Section B, answer question 6 (Compulsery) in the spaces provided and either question
7 or 8 in the spaces provided after questions 8. :
4 Candidates will be penalized for incorrect spellings especially for biological terms.

Al working must be clearly shown where necessary.
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1. Thediagram boim;éé}:res&nts bones at a joint found in the hind limb of a mammal.
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{a) .I“:a:mc the bones iabeliedr P.RandT. (3 maiks)
R
T -
(h) (1) Name'the substance found in the place labelled Q. | (1 mark)
(i) State the. function of the substance named in & {1) above . (1 mark)
) Name the structur ; '
(¢) Name the structure labelled 8. : (1 mark)
(d) Give one difference between the hi nge joint and the one shown above. (1 mark)
(e) Name the bone that articulate with the bone labelled T, at its distal end. {1 mark)
2. (a) Distinguish between population and community. (2 marks)
(h) Give three application of knowledge gained from the study of ecology. {3 marks)
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(¢) Define the chm'al:ter%ﬁibﬁ:s of papulations given below. (Imarks)
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Q/Q*g&? Population growth
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(d) State a
GCAN three assumptions made while using the capture-recapture method to estimate population

A

Q '

\\‘\& {3 marks)
R
QA\ 3. (a) Na { '
2+ (@) Name two defects of the eye. (2 ks)
: (4 marks)
{b} Give one function of each of the followi
] 1 ollowing par : '

o ing parts of the eye. (2 marks)

(i) Ciliary hody

{¢) State three causes of deafiess. 3
' (3 marks)

4. Study the diagrams below znd answer the questions that follow,
X Y

/""\

{a) Name the type of germination shown in
X. :
(1 mark)
Y- |
: (1 mark)
(6) Give areason for your answer in (a) above.
X.
(1 mark)

Y-
| {1 mark)
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5. The diagram below reprgents a human spermatozoon

R ) :

(@) .bﬁ\@&ﬁe part labelled C. {1 mark)

Q@A\o‘b% i ;

< S | |
Q)‘:@(}} Give one function of the part labelled D. (1 mark)
QAN
A . . ot _ :
I (¢} Explain twe adaptations of the human Spermetozoon (2 marks)
QN
<<O N

L
SECTION B (40 marks)

Answer guesiions 6 (compulsory) in the spaces pravided and either question
7 or § in the spaces provided after question 8.

6. Inanexperiment to investigate the effect of heaton cermination of seeds, ten bags each containing
50 pea seeds were placed in water bath maintained at 80°C. After every two minutes a bag was
removed and seeds contained in it planted. The number that germinated was recorded. The
procedure used for pea seeds was repeated for wattle seeds. The results obtained were as shown
in the table below.

Number of seeds that germinated
Time {(Minutes) Pea seeds Wattle seeds

0 - 50 0

2 50 0

4 46 0

6 38 ) 4

8 30 16

10 12 26

12 4 30

14 0 34

16 {0 36

18 0 38

20 0 39

22 | 0 39
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6. (a) Using asuitable scale Drgﬁ\smné axis, draw graphs of time in hot water against the number
of seeds that germinatetor each plant. {8 marks)
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(b) From 0 - 2 minutes, all theSD pea sees germinated. Explain. (2 marks)
,&(\
\6 i :

(z)- Account for ihe@urease int the number of pea seeds that germinated from 4 - 12 minutes.

QP (3 marks)
X :
&
SN
() FYCEL'&‘*Q?.E minutes, zero pea seeds germinated. Explain why. (2 marks)
.\ & -
ng o‘z’{b
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@ @ An increase in minutes had a corresponding increase in the number of wattle seeds that
Q&Q’\\ germinated. Explain. (2 marks)

NS , N " : _
NN (f From 20 - 22 minutes, a higher numnber of wattle seeds germinated and were recorded. Explain,
QO\ é\& _ ; 3 (2 marks)

H
(g) State one method of breaking seed dormancy. (1 mark)
7. Describe the adaptation of xerophytes to their habitat. (20 marks)
8. Describe the adapation of the mammalian heart to its function. (20 marks)
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